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PAPER-I

CLASS: XIlI MAXIMUM MARK: 35

SUBJECT: BUSINESS STUDIES TIME: 1% HOURS

1 Which is the most crucial step in planning process?

2 Which term denotes “The number of subordinates that can be effectively managed by
a superior?

3 To meet the objectives of the firm the management of A. Ltd. offer employment to
physically challenged persons . Identity the organizational objective it is trying to
achieve.

4 Name the type of ‘organisational structure' which promotes efficiency in utilisation of
manpower.

5 “A collection of diverse individuals with different needs but working towards

fulfilling the common organizational goals” this statement highlights which
characteristic of management?

6 Explain the features of management that do not establish it as a profession.

7 With change in the consumption habits of people, Joy, who was running, a sweets
shop shifted to chocolate business. On the eve of Durga Puja he offered chocolates in
attractive packages at reasonable prices. He anticipated huge demand and created a
website chocolove.com for taking orders online. He got lot of orders online and
earned huge profit by selling chocolates. Identify and explain the dimensions of
business environment discussed in the above case.

8 Explain any three characteristics of Business Environment.

9 Explain why is it said that principles of management are 'mainly behavioural’ and
‘contingent’ in nature. Also explain how principles of management ‘provide managers
with useful insights into reality’ and 'helps in thoughtful decision-making'.

10 Discuss the following techniques of Scientific Work Study:

(@) Time Study
(b) Motion Study
(c) Fatigue Study
(d) Method Study
(e) Simplification and standardisation of work.
11 Explain the first six steps taken by management in the planning process.

12 Is planning actually worth the huge costs involved? Explain.
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CLASS: XI1 MAXIMUM MARK: 35
SUBJECT: BUSINESS STUDIES TIME: 1% HOURS

It is described as the managerial function of filling and keeping filled the positions in the
organization structure. Which function of management is referred here?

Every manager from top executive to superior performs the function of directing. Which
characteristic of directing is referred here?

What is meant by ‘financial management'?

A textile company is diversifying and starting a steel manufacturing plant. State with reason
the effect of diversification on the fixed capital requirements of the company.

Name the kinds of issue in which shares are offered to existing shareholder.

Explain first three steps in the process of controlling.

‘Moon Light Pvt. Ltd. was manufacturing good quality LED bulbs and catering to local
market. The current production of the company is 1000 bulbs a day. Rohan, the
marketing manager of the company surveyed the market and decided to supply the bulbs to
five-star-hotels also. He anticipated the higher demand in future and decided to buy a
sophisticated machine to further improve the quality and quantity of the bulbs produced.

Identify the factor affecting fixed capital requirements of the company.

‘Efficient functioning of stock exchange creates a conducive climate for active and growing
primary market for new issues as well as for an active and healthy secondary market.'

In the light of this statement state any three functions of a stock exchange.

State any four points that highlight the importance of controlling.

The board of Directors has asked you to design the capital structure of the company.
Explain any five factors that you would consider while doing so.

What are the advantages of training to the individual and to the organisation?

‘Super Power Ltd.” was an efficient consultancy company. To get the business the team
leader and his team used to travel to different states to give presentation to their clients. As
per the policy of the company, the team leader used to travel by air, whereas his team
travelled by road/train. It was not only time consuming but also at times forced female team
members to travel alone.

As a result, the subordinates were not acting in a desired manner to achieve
organizational goals. The Sr. Manager came to know about it. He called the team leader,
discussed the matter with him and changed the travel policy of the company. It was decided
that all the members including the leader would travel together in future and would usefully
utilize the travelling time in discussion with the subordinates about the presentation to be
given to the clients. This made a positive impact and every member of the team started
acting in a manner as desired by the team leader.

Name the element and explain the features of the element of the function of management
used by the Sr. Manager
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TIME:1§HOURS

lefere‘_ltiate' between Receipts and Payments Account and Income and
Expenditure Account on the basis of ‘Non-cash items’,

Partner A granted loan of ¥ 40,000 to the firm in the beginning of the year.

Intgrest on loan is @ 10% per annum. Pass the necessary journal entries, with
respect to interest on partner's laan, in the books of firm.

Capital invested in a firm is ¥ 3,00,000. Normal rate of retumn is 10%. Average
profits of the firm are ¥ 41,000 (after an abnormal loss of % 20,000). Calculate
goodwill at five times the super profits.

A and B are parters in a firm sharing profits in 3:2 ratio. They admitted C as a
new partner. A surrendered 1/3 of his share in favour of C and B surrendered 1/4
of his share in favour of C. Calculate new profit sharing ratio.

A, B and C are partners sharing profits and losses in the ratio of 2:3:4. They
decided to share future profits and losses in the ratio of 4:3:2. They also decided
to record the effect of the following without affecting their values:

MAXIMUM MARKS: 35

General Reserve % 40,000
Profit & Loss Alc % 20,000
Advertisement Suspense A/c ¥ 15,000

You are required to give the necessary single journal entry.

A, B and C are partners in a firm having fixed capitals of % 80,000; ¥40,000and 4

% 50,000 respectively sharing profits as 7:6:4. The rate of interest on capital was
agreed at 10% p.a. but was wrongly credited to them at 12% p.a Pass necessary
adjustment entry to adjust the balances of partners’ capital accounts.

Define Goodwill. Explain briefly any three factors affecting the value of 4

Goodwill.

8

10.

Erlul? the information given below prepare Income & Expenditure Account fora 6
ub.

Recelpts & Payments Account for the year ended 31" March, 2020

Recelpts Amount Payments Amount
Rs. Rs
To Balance b/d By Salaries 15,000
Cash 2,000
Bank 10,000 12,000
ToSubscription 25,000 By Rent 6,000
To Rent for Hall 39,000 By Statlonery 18,000
ToSaleof old 1,000 By Bicycle purchased 10,000
| newspapers 1§
To Donations for 20,000 By Investments 20,000
Buildings
To Government Grant 2,000 By Charity 5,000
By Newspapers & 2,000
Journals
By Balance o/d
Cash 3,000
Bank 20,000 23,000
99,000 99,000

Additional information:

(a) Subscription due for the year 2019-2020 Rs. 12,000
(b) Outstanding Rent Rs. 2,000.

(c) Bicycle Is depreciated by 10%.

The partnership agreement between M and G provides that 6
(i) Profits will be shared equally.

(it) M will be allowed a salary of ¥ 400 per month.

(ili) G who manages the sales department will be allowed a commission equal to
10% of the net profits, after allowing M's salary.

(iv) 7% interest will be allowed on partner's fixed capital.

(v) 5% interest will be charged on partner’s annual drawings.

(vi) The fixed capitals of M and G are ¥ 1,00,000 and ¥ 80,000 respectively.
Their annual drawings were 16,000 and ¥ 14,000 respectively.

The net profit for the year ending 31°' March, 2020 amounted to ¥ 40,000,
Prepare firm's Profit & Loss Appropriation Account

A and B were partners in a firm sharing profits in the ratio of 3:1. On 1% April, 8
2020 they admitted C as a new partner for 1/5" share in profits of the firm. On
the date of C's admission the Balance Sheet of A and B showed a General
Reserve of ¥ 1,20,000, a debit balance of ¥ 60,000 in Profit and Loss A/c and
Working Compensation Reserve of ¥ 1,50,000. The following was agreed upon
on C'sadmission:

(i) € will bring ¥ 1,50,000 as his capital and his share of goodwill premium in
cash.

(i1) Goodwill of the firm be valued at ¥ 2,40,000.

(iii) There wasa claim of Workmen Compensation for ¥ 1,70,000.

(iv) The partners decided to share future profits in the ratio of 3:1:1

Pass the necessary journal entries for the above on C's admission.
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¥s sharing profits in the ratio of 3/8, 1/2and 1/8. A retires
his share in favour of B and remaining in favour of C.

- and surrenders 2/3 of

‘State two basis for determination of Profits from the date of last Balanoe Sheet

‘1o the date of death of a partner.

Differentiate between Revaluation Account and Realisation Account on the basi
of "Object of Preparation”. i

What ismeant by "Minimum Subscription’?

5. 4,000 shares of ¥ 10 each were issued 1o the Promoters for their services. Pass
f the journal entry in the books of Company.

6. A, Band C were partners in a firm sharing profits in 3:2:1 ratio. The firm closes
its books on 31" March every year. B died on 12-06-2020. On B's death the
goodwill of the firm was valued at ¥ 60,000. On B's death his share in the
profits of the firm till the time of his death was to be calculated on the basis of
previous year's profit which was ¥ 1,50,000. Calculate B's share in the profit of

Pass necessary journal entries for the treatment of goodwill and B's share of
profit at the time of his death.

Write any three differences between Equity Shares and Preference Shares

" When a firm is dissolved, assets are realised, liabilities are paid and the balance,
~ if any, is distributed among the partners in their profit-sharing ratio. The books
* of the firm are closed on dissolution. Which accounts are prepared at the time of
: {-s"  dissolution of a partnership firm? Explain in brief.

entries would you pass for the following transactions on the
m where A and B are partners-
expenses amounted to ¥ 1,000 was paid by A.

"'wpnﬂwmmbymtutm
ation expenses ¥ 3,400 were paid by A for which he was allowed

¥ 4,800 was distributed between A and B in theratio 5:3.

. X1 MAXIMUM MARKS: 35

10.

11.

A, B and C were in partnership sharing profits and losses in he ratio of 2221
Their balance sheets as at 31 March, 2020 wes s urder

Balance Sheet a5 at 31" March, 2020

Liabilities Amount Asets Arourt
% #
Capital A/cs Cash in hand 2
A 40,000 Cash at tenk 70 |
B 20,000 Sundry Debtors 20,000 |
C 10,000 70,000 | Stock 11,800
Creditors 27,000 | Land and Buildings | 50,000 |
Bills Payable 18,000 | Plant and Machinery 24,000 |
Contingency Reserve 12000 | Locse Tools 5750 |
Profit and Loss Afc 6,000 | Fumniture and Fixtures 8,200
Trademarks P 2.000 |
Advertisement Susperse I 5.000
Ajc !
1,33,000 ; [1,33.000 |

On the same date, B retired and the following terms were agresd upon

(i) Goodwill was valued at T 12,000,

(if) Plant and Machinery and locse tools are to be valuerd at 20% less than heir
book value

(iii) Land and Buildings be decreased to T 40,000

(iv) Fumiture and Fixtures to be appreciated by 15% and creditors o be reduced
by T 620.

(v) ¥ 1,300 to be paid to B immediately and the balance 1 be rarsfarsd o bis
loan account.

You are required to prepare Revaluation Account, Partners’ Capital Accounts
and the Balance Sheet of the firm as at 31 March, 2020

X Lid was registered with an authorised capital of T 2000000 In
T 10 per equity share It invited applications for lssuing 1.00,000 squity shares at
a premium of 2 per share The amount was payable as follows:

On application ¥ 4 per share (Including premium)

Onallotment ¥ 3 per share

Balance on 1* and Final call

Applications were received for 1,30,000 shares. Applications for 10,000 shares
were rejected and the application money received on them was refunded
Pro-rata allotment was made 1o the remaining applications. Amount overpaid on
these applications was adjusted towards the amount due on alloament, Sujit, who
has applied for 1,200 shares, failed 1o pay the allotment and call money. The
company forfeited his shares, out of which 800 shares were refssued to Bikash
at ¥ 9 per share fully paid up

Y ou are required to pass the Journal Entries in the books of X Ll
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CLASS -x1l MAXIMUM MARK: 35
SUBJECT-PHYSICAL EDUCATION TIME-THOUR 30MINS

1. What is Planning? 1

2 What is the need of Planning? 1

3 Mention the committees which work before the Tournament. 1

4  What is the role of Transport Committee in conducting a 1

Tournament?

B 5 Define a Knock Out Tournament. 1

6 What do mean by a Fixture? 1

¥ What are the features of Simple Carbohydrate? 1

8 Mention the functions of Protein. 1

9 Explain Hypokalemia. 1

10  Mention the functions of Zinc. 1

11 Distinguish between Knock Out and League Tournaments.
12 Describe the method of Bye allotment in a Knock Out Fixture.
13  Write a short note on Food Myths.
14  What is Food Intolerance?

g 15  Explain the Pitfalls of Dieting.
16  .Elucidate the Methods of Maintaining Healthy Body Weight.
17  Drawa Knock Out cum League Fixture with 20 teams.
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CLASS -XII MAXIMUM MARK: 35
SUBJECT-PHYSICAL EDUCATION TIME-THOUR 30MINS
1. Mention the causes of Obesity. 1
2 Mention the types of Asanas with one example for each. 1
3 Whatare the types of Diabetes? 1
4 Define Scoliosis. 1
5 What do mean by Disability? 1
’ 6 Briefly explain Cognitive Disability. 1
7 Jot down the Basic Movements observed in Early Childhood. 1
8 Write down the causes of Knock Knee. L
9 Mention the various type of Disorders. 1
10 What are the symptoms of OCD? 1
11 Describe the causes of Disabilities. 3
12 Briefly narrate the exercises to correct Round Shoulder. 3
13 Mention the symptoms of ADHD in adults. 3
14 Narrate the causes of Asthma. 3
15 Describe the Disability Etiquettes. 3
16 Elucidate the causes of less participation of women in Sports in India. 5
Mention the Asanas those prevent Hypertension. Briefly describe the procedure, benefits 5

e
~

and contraindications of Vajrasana.
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Two conducting wires X and Y , such that diameter of X is half that of Y
and the number density of electrons in Y is three times that in X are ]oIIned
::i ra:l&e across a battery . Find the ratio of drift speed of electron in two
OR

A parallel combination of two cells of emf's e; and e, and internal
resistances ry and rz is used to supply current to a load of resistance R.Find
the expression for the current through the load in terms of ey, &, 1 and 1y

A point charge Q is placed at point O as shown in the figure . Is the potential
dffferegoe Va-Vg  positive |, negative or zero?Give  reason.

A

+0Q >

Two chamges q and -3q are placed fixed on X- axis separated by a distance d.
Where should a third charge 2q be placed such that it will not experience any

- foroe?

OR
Define electric dipole moment. An electric dipole with dipole moment p is placed
in an uniform electric field E . Calculate the amount of work done in rotating it
from the position of unstable equilibrium to stable equilibrium position,

Find the wavelength of e.m waves of frequency 4 x 10° Hz in free space . Give two
applications of these waves,

In a plane electromagnetic wave, the electric field oscillates sinusoidally at a
frequency of 2.0 x 10'° Hz and amplitude 48 V/m.
a) What is the wavelength of a wave?
b) What is the ampl itude of the oscillating magnetic field?
Define the term “drift velocity” of charge carriers in a current carrying conductor.
Obtain the expression for current density in termms of relaxation time.

OR
Define the term relaxation time of the free electronsdrifting in a conductor .
Establish the relation between electrical resistivity and relaxation time.

a)State Kirchhoff’s voltage law for electrical networks . What does the law
usti fies?

{)) Using Kirchhoff's rules , determine i) the voltage drop across the unknown
resistor R and ii) the current flowing in the am EF in the circuit as shown.

1 AW 10
A 2 e AAAA B

a'[ :a X { "
a)Use Gauss's law 1o derive the expression for the electric field E due to a straight

formmly charged infinite line charge of charge density 2. C/m.
g)f)mggfmhbdwwme varlation of E with perpendicular distance r from the

Qo.

Q10.

Q.

Q12

a) An electromagnetic wave is travelling in a medium with a velecity # =vi . The
electpc field oscillations of the electromagnetic wave are along the Y -axis. identify
the direction in which the magnetic field oscillations of the electiamagretic waves
are taking place. Write the equation for the given electrarmagnetic wave.

b) Mention two important properties of an electromagretic wave.

a)Two point charges —q and +q are located at points (0.0,8) and (0.04)
respectively, What is the electrostatic potential at the points (0,0.z) and (x,y,0)?

b) Draw equipotential surfaces for an electric dipole.

a) State the principle of a potentiometer. Draw a circuit diagram to show
comparison of emf of two primary cells.

b) Why is a potentiometer superior to a voltmeter?

¢) Inameter bridge , the null point is found at adistance of 60.0 cm fromend A . If
now a resistance of 5Q is connected in series with S, the null point occurs at S0 cm
Determine the values of R and S.
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a) Derive an expression for the energy stored in a parallel plae capacitor of
capecitance C with air as medium between its plates having charges Q and
—Q. Show that this energy can be expressed in terms of clecine ficld as eoEAd2
where A is the area of each plate and d Is separation between the plates
b) How will the energy stored in a fully charged capacitor change when the
separation between the plates is doubled and a dielectric medium of dielectric
constant 4 is intraduced between the plates?

Or
a) Derive an expression for the electric field intersity at a point on the axial line of
an electric dipole of dipole moment jj and dipole length 2a. What is the direction of
this field?
b) Three identical capacitors C,, C; and C, of capacitance 6pF each are connected
toa 12 V battery as shown in the figure.

Cy
N e S

Find

1) charge on each capacitor

i) equivalent capacitance of the network

iii) energy stored in the network of capacitors,
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10. &) A wheel with 15 metallic spokes, each 60 om long Is rofated at 360 rpm. in~ 3
a plane normal 10 the hor i zontal component of earth’s magnetic field. The angle
of dip at et place is 60° If e em 1. induced between the rim of the wheel and
the axle is 400mY, caloulate horizontal component of earth’s magnetic field at

#e place. Mow will the induced em.f change if number of spokes are
Ireremsed”

Or

3) State Gauss's law in Magretign. How is it different from Gauss's Law in
electrostatios and why?
b) Vertical comporent of ear®'s magretic field at a place is 3 times it
mmmnwwdm'swmumptnu
umwmaﬁwmwmotmxmma

11, a8) When a charged particle moving with velocity ¢ s subjecied 1o magnetic 1+143
fickd i the force acting on it is non-2210. Would e particle gain any energy? =
Give regeon.
b}hawmmo!m.mtwfnlmﬂcﬁeldﬁm
wbmm.mmmnumumwm

- e ditections of both i and  and mowes undefiected. Find the velocity of the
the expression » g

1o abtain
ERLaT R i o’ c)Tmmmunmmhdu‘rﬁaﬁNMWO{
J m“'m‘m'“m' :.. mﬂ‘wryndm“lhhm&mm'ewbya
R e e Bl ' distoree 2R Find the magnitude and dwection of the net magretic field
‘?n-l:u'::::: procucnd al the midpoint of the line josning Tew cenyes.
ﬁ' :}mMMHNMMMMMmmumL
-' Find the magnetic moment of The revolving slectron Indicate the direction of

b) A hovizontal wire AB of length | and rmass m carries a steady current |y , free
bmmvn“p&n«mmtumaomwolhomm parallel
WmnCDwmmaanﬁ!;,Mnﬁnﬂlnaruumnmlplane
Derive the eupression for he foroe acting per unit kength on the wire AB and
wiite the condiion for which wire AB &5 in eguilibrium

12 n)lnulmnmwmmm,hm 2® ® p @ 5

RS of length | & moveable The locp having
resistance R Is kept in a uniform magretic field B
ditected downward perpendiculal 10 e plane of e
w.mmm;mnmommmv a — -
deduce an expression for (1) em. ! nduced across the ® ® ®
amm RS (M)he external force requited 1o Mowe the

am (iijhe power Gssipated as heatl
b).l.nmmdm.quMFmamﬂmmwuam
Mnutﬁbmu:mof 50V of variable frequency. Calculate
mmnMnsmmawmlm oocurs in the circult
and the corresponding value of effective current.
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SUBJECT: BIOLOGY TIME: 1% HOURS
Q1  When atall pea plant was selfed, it produced one fourth of its progeny as dwarf. Explain with
the help of a cross.
Q2 A woman with blood group ‘O’ married a man with blood group AB. Show the possible blood
group of the progeny. List the alleles involved in this inheritance.
OR
How does a test cross help in identifying the genotype of the organism? Explain.
Q3  What is the cause of discontinuous synthesis of DNA on one of the parental strands of DNA?
What happens to these short stretches of the DNA synthesized?
Q4 A person has suffered a heart attack due to a floating clot in his coronary artery.
a) Name the bacterium that can save him.
b) Mention its product and its action.
Q5. Name a microbe used for statin production. How do statin lower blood cholesterol level?
Q6  Explain the phenomenon of multiple alleles and co dominance by taking the example of ABO
blood group in human.
Q7  Aqirl of sub normal intelligence has defective speech and also a protruding tongue. What type
of genetic disorder is it? Explain the cause and the basis for this disorder to be detected.
Q8  Who discovered mutation? Write the scientific name of the plant he worked on. State the
function of RNA polymerase during transcription.
Q9  How do organism like fungi, zooplankton and bears overcome the temporary, short lived
climatic stressful conditions? Explain.
Q10 Microbes can be used to decrease the use of chemical fertilizers and pesticide. Explain how this
can be accomplished.
OR
How is activated sludge formed during sewage treatment?
Explain how the sludge can be used as inoculum or as a source of bio gas.
Q11 How did Hershey and Chase prove that DNA is the heredity material? Explain their experiment
with diagrams.
OR
Draw a labelled schematic structure of a transcription unit. Explain the function of each
component of the unit in the process of transcription.
Q12. What is “population” according to you as a biology student?

“The size of a population for any species is not a static parameter”. Justify the statement with
specific reference to fluctuations in the population density of a region in a given period of time.
OR
A. Name and define the type of the interaction seen in each of the following examples
a) Ascaris living in the intestine of human
b) Wasp pollinating fig inflorencesce.
c) Clown fish living among the tentacles of sea anemone
B. Explain the phenomenon of ” Brood parasitism”
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PAPER-II
CLASS: XII MAXIMUM MARK:35
SUBJECT: BIOLOGY TIME: 1% HOURS
Q1 Whatis cleistogamy? Write one advantage and one disadvantage of it, to the plant. 2
Q2  State what is 1 pomixes. Write its significance. 2
OR
Why should a breeder need to emasculate a bisexual flower? Mention a condition in a
flower where emasculation is not necessary.
Q3  Mention the sites of action of the hormones GnRH and FSH during spermatogenesis in 2
human males. Give one function of each of the hormones.
Q4  Explain any two methods of Assisted Reproductive Technology (ART) that have helped 2
childless couples to bear children.
Q5 Whyis ZIFT aboon to childless couples? Explain the procedure. 2
Q6  Write the mode of pollination in vallisneria and water lily. Explain the mechanism of 3
pollination in Vallisneria.
Q7 Draw a transverse sectional view of an apple and label the following parts along with their 3
technical name.
A) Edible part
B) Encloses the embryo
C) Forms the fruit wall
Q8 A) Draw a sectional view of human ovary. Label the following parts: 3
a) Primary follicle
b) Secondary oocyte
c) Graafian follicle
d) Corpus luteum
B) Name the hormones influencing follicular development of corpus luteum.
Q9  Alien species are highly invasive and are a threat to indigenous species. Substantiate this 3
statement with any three examples.
OR
Explain “rivet popper” hypothesis. Name the ecologist who proposed it.
Q10 Describe the three manners in which fertilization of human ovum by a sperm can be 3
prevented.
Q11 Represent through diagram the various events taking place during menstrual cycle. 5
a) Uterine events
b) Ovarian events
c) Pituitary hormone levels
OR
Describe the structure of mammalian sperm with a labeled diagram.
Q12 What is the significance of the slope of regression in a species area relationship? 5

The loss of one species may lead to extinction of another. Explain it with an example.
OR

What is IUCN Red list? Give its main aim and uses.

List three consequences of loss of biodiversity.
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General Instructions:-

All questions are compulsory.

There is no overall choice. However, an internal choice has been provided in two questions of two
marks, one question of three marks and one question of five marks. You have to attempt only one
of the choices in such questions.

Use of calculator is not permitted. However, you may use log tables if necessary.

Nitric oxide, NO, reacts with oxygen to produce nitrogen dioxide:
2NO(g) + O5(g) —2NOx(9)
The rate law for this reaction is,
Rate = k[NOJ{[0;]
Propose a mechanism for the reaction.
OR
Why molecularity applicable only for elementary reactions and order is applicable for
elementary as well as complex reaction?
A mixed oxide is made up of Zn®*, A** and 0. Oxide ions are arranged in ccp layers. One-
eighth of the tetrahedral holes are occupied by Zn®* ions and half of the octahedral holes are
occupied by AI** ions. Find the formula of mixed oxide.
OR

Explain how much portion of an atom located at
(i)corner and
(if)body centre of a cubic unit cell is part of its neighbouring unit cell.

a) Why does presence of excess lithium makes LiCl crystals pink?

b) Why is the Frenkel defect not found in pure alkali metal halides?
Explain the following:

a) Ozone is used in swimming pools.

b) Decomposition of ozone molecule is a spontaneous process.
Predict the order of reactivity of the following compounds in Sy1 reaction and also explain
the reason.
The four isomeric bromobutanes.

10

11

12

a)Find the two-third life (t3) of a first order reaction in which
k=5.48 x 107" sec™*

b) The rate law for the reaction,

Ester + H* — Acid + Alcohol, is

&=k [Ester][H']°

What would be the effect on the rate if
(i)Concentration of the ester is doubled
(ii) Concentration of the H" is doubled

In a pseudo first order hydrolysis of ester in water, the following results were obtained:

t/s 0 30 60 90

[Ester]mol™ 0.55 0.31 0.17 0.085

(i)Calculate the average rate of reaction between the time interval 30 to 60 seconds.
(ii)Calculate the pseudo first order rate constant for the hydrolysis of ester.
Chromium metal crystallizes with a body-centred cubic lattice. The length of the unit cell
edge is found to be 287pm. Calculate the atomic radius. What would be the density of
chromium in gicm® .
a)Draw the structures of the following :
(i)H2S:0¢
(i) BrFs
(iii)XeOF4
OR
Comglete the following chemical equations:
(i)Fe " +S0, +H,0 —
(if)S + H2SO4—
(iii) XeFg +H,0 (Complete Hydrolysis)—
Explain why:
a) Dipole moment of chlorobenzene is lower than that of cyclohexyl chloride.
b) Alky! halides, though polar, are immiscible in water.
c)Grignard reagents should be prepared under anhydrous conditions.
Primary alkyl halide (A) C4HqBr reacted with alcoholic KOH to give compound (B).
Compound (B) is reacted with HBr to give (C) which is an isomer of (A). When (A) is
reacted with sodium metal it gives compound (D), CgH1g which is different from the
compound formed when n-Butyl bromide was reacted with sodium. Give the structural
formula of (A),(B),(C), (D) and write the equations for all the reactions.
OR
a)Give reasons for the following:
(i) Ethyl iodide undergoes Sy2 reaction faster than ethyl bromide
(i) (%)2-Butanol is optically inactive.
(iiiy C-X bond length in halobenzene is smaller than C-X bond length in CHs-X.
b)How will you convert the following:
(i)Prop-1-ene to 1-Flouropropane
(if)Ethanol to Propanenitrile.
a) SO is reducing while TeO; is an oxidising agent. Explain
b) Why do noble gases have very low boiling points?
c) BiH3 is a strongest reducing agent amongst all the hydrides of group 15 elements. Account
d) Xe form compound with fluorine and oxygen only. Explain.
e) H,S is stronger acid than H,O. Explain

*hkkkkkhkkhkhkkkkik



DAV PUBLIC/MODEL SCHOOLS, WEST BENGAL ZONE
ONLINE MID TERM PEN PAPER ASSESSMENT

SESSION: 2020-21
PAPER- 11

CLASS: XII MAXIMUM MARKS: 35

SUBJECT: CHEMISTRY TIME: 1% HOURS

General Instructions:-

e All questions are compulsory.

e There is no overall choice. However, an internal choice has been provided in two questions of two
marks, one question of three marks and one question of five marks. You have to attempt only one
of the choices in such questions.

e Use of calculator is not permitted. However, you may use log tables if necessary.

1 Give reason for the following
a) Measurement of osmotic pressure method is preferred for the determination of molar
masses of macromolecules such as proteins and polymers.
b) Mixture of ethanol and acetone shows positive deviation from Raoult’s Law.
2 What osmotic pressure would 1.25molal sucrose solution exhibit at 25°C? The density of the
solution is 1.34g/mL.
3 Why do physisorption and chemisorption behave differently with rise in temperature?
OR
What do you understand by activation of adsorbent? How is it achieved?
4 Give reason:
a) lonic conductance increases with increase in temperature.
b) Conductivity of an electrolyte solution decreases with the decreases in concentration.
5 How will you distinguish between allyl alcohol and n-propyl alcohol?

How will you distinguish between CH3(CH2)sOH and CH3;CH=CHCH,CH,OH by a
chemical test

6 Liquids A and B form an ideal solution over the entire range of composition. At temperature
T, equimolar binary solution of liquids A and B has vapour pressure 45 torr. At the same
temperature , a new solution of A and B having mole fraction Xa and Xg respectively, has
vapour pressure of 22.5 torr. Calculate the value of Xa/Xg for the new solution (assume that
the vapour pressure of pure liquid is 20 torr at temperature T).

7 What happen when
a) Dialysis is prolonged?
b) Electric field is applied to colloidal solution?
¢) An electrolyte NaCl is added to ferric hydroxide sol?

8 Give reasons for the following:
a) On the basis of Hardy-Schulze rule, the coagulating power of phosphate ions is higher
than that of chloride ions.
b) Fe(OH); colloid positively charged when prepared by adding FeCls to hot water.
c) A delta is formed at the meeting place of sea and river water.

10

11

12

a) Alcohols can act both as acids and bases. Explain.
b) Why is cyclohexanol more soluble in water than hexan-1-o0l?
¢) Why cannot anhydrous calcium chloride be used for drying ethyl alcohol?
OR
a) Arrange following in decreasing order of boiling points and account for the
order. (A)Pentan-1-ol , (B) 2-Methylbutan-2-ol , (C) 3-Methylbutan-2-ol
b)Outline the synthesis of the following alcohol from the indicated starting material
(i) Isopropy! alcohol from propane.
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a) What can you say about the nature of these two electrolytes?

bg How do you account for the increase in ap for the electrolyte A and B with dilution?
¢) How cani you determine »_for these electrolytes?

a)What happens when

(i)Phenol reacts with CO, in presence of NaOH.

(ii)Ethanol reacts with CH3COCI/pyridine

(iii)Anisole reacts with HI?

Write the chemical equations involved in the above reactions.

b)Write the mechanism for preparation of diethyl ether from ethyl alcohol

Calculate e.m.f and AG for the following cell at 298 K
Mg | Mg* (0.01M) | | Ag* (0.0001M) | Ag(s)
Given E°Mg?*/Mg = -2.37V, E°Ag*/Ag = 0.80V
OR
a) The electrical resistance of a column of 0.05M NaOH solution of diameter 1cmand length
50cm is 5.55x10° ohm. Calculate its resistivity, conductivity and molar conductivity.
b) Calculate the degree of dissociation (o) of acetic acid if its molar conductivity (ap) is
39.05 Sem’mol ™. Given A°(H") = 349.6 Scm’mol™ and 2’cracoo,) = 40.9 Scm’mol ™
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SUBJECT: COMPUTER SCIENCE
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ONLINE MID TERM PEN PAPER ASSESSMENT
SESSION 2020-21
PAPER-I
MAXIMUM MARK:35
TIME: 1% HOURS

Differentiate between Syntax Error and Run-Time Error. Also, write a suitable 1+1=2
example in Python to illustrate both.
Rewrite the following python program after removing all the syntax errors (if any). 2
Underline each correction.
def checkval:
X = input(“Enter a number™)
ifx%2=0:
print x,”is even”
else if x<0:
print x,”should be positive”
else;
print x,”is odd”
%X
4=2

Which string method is used to implement the following? Also write the appropriate
syntax for the function

(i) To count the number of characters in the string.

(ii) To change the first character of the string in capital letter.

(iii) To check whether the given character is a letter or a number.

(iv) To change lower case to upper case letter.

Which of the following cannot be used as valid identifier(s) in Python? Give 2
appropriate reason for your answer.

My.file, _Count, For, 2digits, Total, Number#, Namel, main, append

What happens when python encounters an import statement in a program? How 1+1
“import <module>" and “from <module> import statements are different from each

other?

Find the output of the following python code. 2
colors = ["violet", "indigo", "blue", "green”, "
del colors[4]

print(colors.remove("blue"))

'yellow", "orange", "red"]

print(colors.pop(3))

print(colors)

Differentiate between Call by value and Call by Reference with suitable example. 2
What do you understand by standard library of Python? Write down the steps to create 2

own library/package in python.

Q9.

Q10.

Q11.

Q12.

Q13.

Q14.

Find the output of the following code.
def change():
L=(]
L1=]]
L2=]]
for i in range(1,10):
L.append(i)
for i in range(10,1,-2):
L1.append(i)
for i in range(len(L1)):
L2.append(L1[i]+L[i])
L2.append(len(L)-len(L1))
print(L2)
change()
What is an argument? Define with proper syntax for different types of arguments that
can be used in a function.
Write the program in python using a method COUNTNOW(PLACES) which takes a
list of strings as argument and display the longest place name.
For example: If the list PLACES contains.

["SYDNEY","TOKYOQO","PINKCITY","BENING","SUNCITY"]

Output : PINKCITY

Write a python program that accepts a hyphen separated sequence of words as input
and print the words in a hyphen separated sequence after sorting them alphabetically.
Ex (Input): green-red-yellow-black-white

Output: black-green-red-white-yellow

Write a Function in Python to search a number from the entered list using binary search
technique.

Write a program in Python using function named Create(str) which takes a string as
argument and returns a dictionary by creating from that string as per following format.
Example string : 'w3resource'

Expected Dictionary: {'3":1,'s"'1,r:2,'u:1,'w:1,'c:1,'e: 2, '0" 1}
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DAV PUBLIC/ MODEL SCHOOLS, WEST BENGAL ZONE Q14.  Knowledge Supplement Organization has set up its new centre at Mangalore for its 1X

ONLINE MID TERM PEN PAPER ASSESSMENT office and web-based activities. 4 blocks of buildings as shown in the diagram below: 4=4
SESSION 2020-21 Centre to czntre distances between various blocks:
PAPER-II BIock A 10 BIock B p— Number of computers:
CLASS: XlI MAXIMUM MARK:35 Bluck B Lo Bluck € 150 m Rlock & i
SUBJECT: COMPUTER SCIENCE TIME: 1% HOURS Block C to Block D 25 m B‘“k? 5“_'
Q1.  What do you mean by pickling and unpickling process? What is the need of these 2 Block A to Block D 170 m Bock - :fb
) Block B to Block D 125 m Block D 10
processes: Block A to Block C 90 m
Q2. Explain any four functions used for different file operations. 2
Q3. Write a function file_long() that accepts a filename and its mode as argument display 2 /\
the longest line present in that text file. (Consider the file has multiple lines of data) Block A
Q4. Write a program to read from a csv file (student.csv) contains data of students (Admno, 3
Sname, Stream) and copy those information to another csv file (Stream.csv) having the
stream of the student is “Science”. /\
. . . . . L . Block B Block D
Q5. Briefly explain about different types of file opening modes used in file operations. oc oc
Q6. Consider a binary file Employee.dat containing details of an employee such as empno,
ename, salary. Write a function to display details of those employees who are earning (i) Suggest the suitable topology for establishing network .
salary between 20000 to 40000. (ii) Suggest the most suitable place (i.e., block) to house the server of this organization
Q7. What are Stack and Queue data structures? Enlist some applications of Stack and 3 with a suitable reason.
Queue. (iii) Suggest the placement of the following devices with justification:
Q8. Write Addnew(Book) and Remove(Book) methods in python to Add a new Book and 4

(a) Repeater (b) Hub/Switch

Remove a Book from a list of Books, considering them to act as ENQUEUE and . . . L L . o .
(iv) The organization is planning to link its front office situated in the city ina hilly

DEQUEUE operations of the data structure Queue. . L . . .
region where cable connection is not feasible. Suggest an economic way to connect it

Q9. Define Interspace. 1 . .
. . . with reasonably high speed.
Q10 What is the difference between Client-Server and Peer-to-Peer Networks? 2
*hhhkhhhkhkhkhhkhik
Q11.  Why switching techniques and used in network? Explain about Packet switching 2
technique.
Q12.  Write the expanded forms of the following abbreviated terms used in networking and 2

communications:

(i) SMTP (ii) VolP
(iii) GSM (iv) WLL
Q13.  Differentiate between guided and unguided media of communication with examples of 2

each.



DAV PUBLIC/ MODEL SCHOOLS. WEST BENGAL ZONE 10.  a. Calculate net value added at factor cost from the following: 4+2

Sl. No. Items Rs. (in Cr.)
ONLINE MID TERM PEN PAPER ASSESSMENT 1. Consumption of fixed capital 600
SESSION 2020-21 2. Import duty 400
PAPER-1 (Macro Economics) 3. Output sold (Units) 2,000
CLASS: XII MAXIMUM MARK:35 4, Price per unit of OUtpUt 10
o a1 5. Net change in stock (-)50
SUBJECT: ECONOMICS TIME: 1% HOURS 6. Intermediate cost 10,000
7. Subsidy 500
1. Machineries purchased by a producer will be an intermediate good or a final 1 . . .
good? b. State two precautions of the method used for solving above numerical.
2. Name two components of government budget. 1 OR (A+B)
A. Explain the circular flow of income in a two-sector economy.
3. lllustrate functions of RBI as banker to banks. (Any three) 3 B. What precautions are to be taken while measuring national income by income
method?
Ilustrate functions of RBI as banker to government. (Any three)
4.  State whether the following will be included in national income or not: 143 D T —

a. Mobile Set purchased by a mobile dealer
b. Interest paid by a household to banks against a car loan
c. Free treatment provided by government hospital

5. a. What is budgetary deficit? 1+2
b. Calculate revenue deficit, fiscal deficit and primary deficit from the following.
i. Capital Receipts net of borrowing — Rs. 95 Cr.
ii. Revenue Expenditure — Rs. 100 Cr.
iii. Interest Payment — Rs. 10 Cr.
iv. Revenue receipts — Rs. 80 Cr.
v. Capital Expenditure — Rs. 110 Cr.

6.  Distinguish between 242
a. Factor income and Transfer income. (Any two)
b. Stock and Flow (Any two)

7.  a. Define the My measurement of supply of money as presented by RBI. 242
b. If LRR = 20%, initial (primary) deposit = Rs. 1000, what will be the total
money creation by the banks?

8.  Explain any two objectives of govt. budget. 2+2
OR
Distinguish between direct and indirect tax with an example of each.
9.  a. Giving reasons state whether the following are revenue receipts or capital 3+3
receipts.
i. Sell off PSUs

ii. Corporation tax

b. Giving reasons state whether the following are revenue expenditures or capital
expenditures.

i. RAFALE fighter jets purchased by India from France.

ii. COVID-19 Grant given to state

iii. External loans raised by central govt. from abroad

govt. by the central govt.

iii. Payment to parliamentarians
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SESSION 2020-21
PAPER-I1 (Indian Economic Development)

CLASS: XII MAXIMUM MARK:35
SUBJECT: ECONOMICS TIME: 1Y2 HOURS

1. What was the IMR in India on the eve of independence? 1

2. What do you mean by churning poor? 1

3. Mention two important features of India’s occupational structure during the 3

British period.

4. Explain ‘growth with equity” as a planning objective. 3
5. Differentiate between absolute poverty and relative poverty. 3
OR

Explain two reasons behind poverty in India.
6. Discuss two reasons for India’s agricultural stagnation during the colonial 4
period.
7. India has certain advantages which make it a favourable outsourcing 4
destination. What are these advantages?
OR
State the reforms introduced under financial sector in India.
8. Explain how poverty line is determined in India? 4
9. Explain why public sector was given a leading role in Industrial 6
development during the planning period.
OR

What do you mean by land reforms? Explain any two measures which were
taken under land reform in India.

10. Why were Economic Reforms introduced in India? (Explain any three 6
reasons)
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SUBJECT: ENGLISH TIME: 1% HOURS
Paper-1
WRITING SKILLS

1. You are Ruhi/Rahul, head girl/boy of Amar Public School, Mumbai. Your school
IS going to organize an online workshop for students interested in photography.
Write a notice to be circulated to students instructing the interested students to
register.

2. Your younger brother needs to be kept productively engaged during lockdown
confinement, hence the family wishes to engage a private coach to teach him the
game of chess. Draft a suitable advertisement.

3. Your pet Poodle has gone missing since last evening. Draft an advertisement to be
inserted in the Classified columns of a local newspaperto retrieve your pet.

4. Your school, SKD Model School, Sonipat, is going to celebrate its Silver Jubilee
Year through a bonanza of weeklong cultural events. Draft an invitation for the
parents.

5. Mr. Sourabh Mehta, an eminent scientist of the city of Jaipur has been invited to
attend a seminar as a guest speaker at the City Science Institute. Due to a prior
engagement, he is not able to respect the invitation. Draft a suitable reply.

6. You are Shilpa/Sameer living in Bangalore. You have just completed your studies
for a diploma in Food Technology. While browsing through The Hindustan Times,
you come across the following advertisement. Send your application in response to
this advertisement. “An upcoming food processing unit in Mysore requires Food
technologists: 2 yrs degree/diploma in food technology having 1-2 yrs lab
experience. Eligible candidates apply to the Manager,Anand Food Processors,
26/7 Rose Avenue, Mysore, in 7 days”

7. Write a letter to the Editor of the magazine, Expressions, New Delhi, on the dire
need to maintain social distancing even after Government lifts the lockdown laws.
Sign yourself as Kamal.

8. You are Pulkit/Prerna, a staff reporter of The Times of India. You have been asked
to cover an incident of daylight robbery on the outskirts of Delhi when the inmates
were present in the house. Write a report in 100-125 words.

9.  Write an article in 150 words for your school magazine on the topic ‘We believe
what the media wants us to believe’.
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CLASS: XII MAXIMUM MARKS :35
SUBJECT: ENGLISH TIME: 1% HOURS
Paper-2
LITERATURE
1. Answer the following in 40 words each: 2x10=20

a. What was Franz’s reaction to the declaration that it was the last class?

b. Why didn’t the people settled in Seemapuri go back to their own
native place?

c. Mention the hazards of working in a glass-bangle factory.

d. Describe the boy who tossed Douglas into the pool.

e. What were the terms and condition in the contract between the
British landlords and the Indian sharecroppers?

f. What is Charley trying to escape?

g. Why did the General not order an immediate arrest of Dr. Sadao,
who had sheltered an American prisoner of war?

h. To whom does Stephen Spender make an appeal in his poem? What
is the appeal?

i. What ‘sadness’ does the poet refer to in the poem ‘Keeping Quiet’?

j. According to Keats, what makes human beings love life inspite of
troubles and sufferings?

2. Answer the following in 150 words each: 5x3=15

a. Bring out the complexities of human relationships as depicted by
Kamala Das in her poem ‘My Mother at Sixty-six’.

b. Do you think Jo’s ending to the story was right? Why / Why not?

c. The story “The Rattrap’ is both philosophical and entertaining.
Justify.
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PAPER-I
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SUBJECT: MATHEMATICS TIME: 1% HOURS.
Section -A
1. Let A and B be two matrices of order 3x2 and 2x4 respectively. Write the order of 1
the matrix (AB).
Section -B
2. State the reason for the relation R in the set {1,2,3} given by R = {(1,2),(2,1)} isnot 2
to be transitive.
OR
If R is a relation ““ is divisor of ” from the set A={1,2,3} to B = {4,10,15}, then write
down the set of ordered pairs corresponding to R.
2_
3. Examine the following function for continuity: f(x) = xx+§5 ,x # —5x €R. 2
4. Events A and B are such that P(4) = i ,P(B) = 1—72 and P(not A or not B) = i . 2
State whether A and B are independent.
Section -C
S. Let A and B be two sets .Show that f:A X B - B X A,such that 4
f(a,b) = (b,a)is bijective function.
6_ _ 1 -1 _la 1 2 — a2 2 - 4
IfA= [2 _1],3 = [b _1] and (A + B)? = A? + B?, then find the values of
‘a’ and ‘b’.
7. — n 2y 42y dy _ .2 4
If y = (x + V1 +x2) , then show that (1 + x )ﬁ+xa— n2y
OR
d
If x= a(t+%)andy =a(t—%),provethat ﬁZi.
8. There are three coins, one is a two headed coin (having head on both faces), another 4
is a biased coin that comes up heads 75% of the time, and the third is an unbiased
coin. One of the three coins is chosen at random and tossed, it shows head. What is
the probability that it was the two headed coin?
Section -D
9. 2 4 -6 6
Express the matrix A = [7 3 5 | as the sum of a symmetric and a skew-
) ) 1 -2 4
symmetric matrices.
10 Prove that radius of right circular cylinder of greatest curved surface area whichcan 6

be inscribed in a given cone is half of that of the cone.
OR
Find the equations of the tangent to the curve y = x2 — 2x + 7, which is
0] Parallel to the line 2x —y +9 = 0.
(i) Perpendicular to the line 5y — 15x = 13.
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PAPER-II
CLASS:XII MAXIMUM MARKS:35
SUBJECT: MATHEMATICS TIME: 1% HOURS.
Section -A
1. Find the principal value of cosec™1(—/2). 1
Section -B
2, _1 (1 11 2
Evaluate cos™?! (E) + 2sin™?! (5)
OR
. 1 (V3 -
Find the value of sin™! (7) + tan~1(V/3).
3 Evaluate [ X dx 2
Hae ) e
4. Find the order and degree, of the differential equation 2
a3y\? | (ay\* _
x(3) + (%) +»2=0
Section -C
5. H - — 1 . 1 4
i Find the value (‘)1f tan (1) + cos™? (—5) +sin™?! (—5)
. x 4
Evaluate [ — "
7 Evaluate [, {Jx — 2| + |x — 3] + |x — 5[} dx 4
8. Solve the differential equation (x? — 1) Z—z + 2xy = - 4
OR
Solve the differential equation (x? — y2)dx + 2xydy =0
Section -D
9. 6

T
Evaluate [ 2 sin2xtan™" (sinx)dx

10 Using integration, find the area bounded by the tangent to the curve y = 3x2at 6
the point (1,3) and the lines whose equations are y = %and x+y=4
OR
Using integration find the area of the region bounded by the triangle AABC
coordinates of whose vertices are A(—1,2),B(1,5), and C(3,4).
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